WHAT is the

LOW HANGING FRUIT
in INDUSTRY 4.0 Implementation

WHY

you should eat it




WhHY
IS INDUSTRY 4.0

ADOPTION VITAL
FOR MANUFACTURING?




THREE PROBLEMS OF MACHINE SHOPS

» UNPLANNED STOPPAGES OF MACHINES

Production Loss
Delayed Dispatches
Wasted Labour




> EXCESSIVE TIME SPENT IN SCHEDULED STOPPAGE
FOR TOOL CHANGES, JOB SETUP & OPERATOR BREAKS.
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LUNCH TIME
12:30 to 1:00




> POOR PERFORMANCE OF OPERATORS
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WHY is ADOPTION OF INDUSTRY 4.0
TECHNOLOGIES DELAYED or AVOIDED?

» Industry 4.0 implementation seems COMPLEX

» Industry 4.0 implementation seems EXPENSIVE

» Industry 4.0 implementation is believed to require lots
of EXPERTS inside the organization & some as consultants




WHY You SHOULD PLUCK & EAT THE

LOW-HANGING FRUIT IN INDUSTRY 4.0
IMPLEMENTATION

» It gives immediate rewards which ENERGIZE & ENTHUSE
the organization.

>

It REMOVES the fear & doubt about Industry 4.0
implementation being complex, expensive or requiring
experts.




WHAT s THE LOW-HANGING FRUIT IN
INDUSTRY 4.0 IMPLEMENTATION

» Cloud based Universal Machine Monitoring (UMM) is
THE low-hanging fruit in Industry 4.0.
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